Efficiency vs dr

x 0.1
Q
©0.09
£0.08
<
()
50.07
=
©0.06
0.05
0.04
0.03F
0.02f-{{
0.01¢ |
10f

Il [TTIT
1 bas
QM_mKFit5_TT retraanIdF|Ie5125 v2_prelimWP_epoch4
SM mKkFit_TT_baseline_6iter

Ratio

1

1§ -

mkFit6_TT_| retraan'IdFlIeleS v2 prelimWPiepoch27WSQCD

L

1078 1072 107

o0.8f--f

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

50.02
N S SR TS RO OV S S
e T (A S
RIS e T IS I SRS SR SR
51 L : ] : : : : :
RIS S TS
= = : ] : : : : :
R | RN it
0.01F : ; : : : : :
0.008F
0.006F
0.004F
0.002F
1Q

Ratio




	Contents
	Page 1


